MATH, 22
: - S g Wi\ ”
AW B SoLuTIoVS




.
e
£a1) o A

1



"ﬁﬂ?g&wm&w .

L.(Zg{\ = {2~:G\}
\W(.@({\\ < (@¥1\%§







W= 22

%
¢ o

= ‘E’ X@(Q@‘L A
fu

2 ‘ \
- Z So v du = \"E
\1—3 Lo X L .\ @'L N t,%:%w y
\ixv\’\ oo D’; P\rl% ;} \Js% t

\:i We 2wt

N e ‘@‘i‘*’"gj

= CS?,'Q i‘w\ Q‘f-zgﬁ)

4
(i -3) 2z
= w-
USwtae {0V (o
Ak
D.
“;"5
“ v
f,’h”"?««} VN
' ¢
Mot‘.‘ LLL&% = (5,0\ e \__(D\"& - S0y,
— T ! - ;:‘J’f.,z g
L (\ \"‘L\ e (@ [ %’\ /{f}
£a,-5h L




. E\t} ()V\C?\/v.i}l S .
S o ‘ ; £
7 :{ \ S L3, m?xﬁ«x .

[ Ixau. N
gg E Ay

ldar | T
utf—’ AV ERN-)
= M\ : g g {j“’{“ﬂ%&{ AN Ay
5 e b (N = LY
V-8
w=5
§ 3 g \ - o
'S Z — (w-3) Adv
W G I P~
44 ::—%3 |
L Tt s
g— _g \Vtu“%) - (U"“ﬁ‘ﬁv Z Q{Eﬁfc
[V E-e) (’9
= ) 5 e
i g (w=23% dw
o] g ‘g
LT i
& 3 ({M"Zi\ ))
= ©




